122(?)% 1657 58 PUZ= 8 £ [ PR ) B s A b PR S v e B M 0 455 2R

v AR | dasilser | WaEs | MmE | HaokE [ AR | Higeas | Bk | B
VKFE S MR 5 120 mg/m’ o -
e i gm | EIAIHC Wk ) 5 120 mg/m’ = -
BN Ak od WOTET Bl |5 | 120 [mgw | 2 | -
%—%ﬁ.]z ﬁﬁﬁ]ﬁé} gél%%*ﬁ 2016-11-14 G&’f’?é\% 0.02 0.7 mg/m3 ;Eé -
Al Eil. ia ki 4 5 120 mg/m’ B2 -
2 MR G 0.12 0.7 mg/m’ 2 -
Jgs ki 7 120 mg/m> & -
i M AR A 0.0112 — mg,/m? - -
B KA A 0.0122 - mg/m’ - -
B ARE] 0.0037 - mg/m? - -
A 5.61 70 mg/m’ B2 -
JH A 13 80 mg/m> P -
sk | L1/1550 ﬁﬂiﬁ&f 0.01424 1 mg/m’ i =
s | AR | ke |2016-10-19——tudbit | 28 300 | mg/m | S -
AR A fp AEMY 102 500 mg/m> I -
n G| 0,037 1 mg/m’ 2= -
B A 51 0.002088 | 0.1 mg/m’ i -
A% 2 <1 1 7% & -
— ALK 37 80 mg/m’ 2 -
SALE 0.14 7 mg/m’ I -
EALD) 0.18 - mg/m> — -
A A ] 0.162 — mg/m’ - -
WAL A ] 0.0279 - mg/m’ - -
BB HARE] 0.0428 - mg/m’ - -
FAE 0.11 70 mg/m’ & -
5% AL AL 0.15 7 mg/m’ s -
PR AR N T A 11 80 mg/m> = -
&5 N Bledr [2016-11-1 |ff, 48 &% IL] 0. 1109 1 mg/m’ 2 —
oL — b 7 300 | mg/m = -
AN 49 500 mg/m’ B -
&) <0.01 1 mg/m’ i -
A G| 0.0159 0.1 mg/m’ & -
PR 2 B <1 1 2% & -
ALY 0.2 - mg/m’ - -
1 Ik AENY 110 400 mg/m> = -
Jin A —HALAR 8 400 mg/m’ 5 -
1 Ik HENY 112 400 mg/m> = -
Jin A AL 8 400 mg/m’ 5 -
1005t/ REANY 188 400 mg/m’ & -
E AL A 16 400 mg/m’ I -
21 (2016-10—-28 A ALY 35 400 mg/m> = -
Jin A AL 5 400 mg/m’ 5 -
220 J7 i —HAR 7 550 mg/m> s -
JAEEAL AN 27 240 mg/m’ & -
A Wk ) 25 120 mg/m’ = -
260 J7 i AENY 190 400 mg/m? 2 -
/A2 AR 13 400 mg/m> s -
37 Wit AL 16 960 mg/m’ B -




XE | gk [ wuas | waing | swisE | HsorE | B | Hseass A | BT
sl [E016-10-28 Btk | 17 | 2o HRCEYL (R

WKEE MR 7 120 mg/m> s -

87/ AR 8 960 mg/m’ 5 —

AR it AN 11 240 mg/m? e -

Efe Wk 8 120 mg/m> f -

BQWB- ‘Ji’j'i 8 10 mg/m> = -

130/3. 8 i 1.46 2.3 mg/m* B2 -

g | 2o s AL 12 35 mg/m’ I -

BT 47 R ALY 36 100 | mg/m | A ~

’Hﬁéj\//_bﬁj :n\f}j :él—?”’t@lth 9 400 mg/m3 % -

Hgﬂﬂ% ZEND) 34 240 mg/m? B2 -

gﬁ?”% AN 30 400 mg/m> = -

§1§J(F ifﬂjﬁﬁ)ﬁ 11 400 mg/m> ok -

EL%'JJD A 63 400 mg/m> = -

abu%& A 9 400 me/m 2 -

ifﬁ?ﬂ 9016-10-25 %&fmﬂc#@ 60 400 mg/m’ B -

AR 8 400 mg/m’ = -

Epﬁﬁﬂ AENY 64 400 mg/m> = -

P2 A 10 400 mg/m’ = -

RN AN 3 400 mg/m> = -

fﬁbn%& AR 7 400 mg/m’ I -

ﬁﬁi Ry 3 400 | mg/m’ I -

?Eﬁﬁ; AR 7 400 mg/m’ 5 -

ﬁfii FE) 3 400 mg/m’® 3 R

il;%ﬁ —HURGR 7 400 | mg/m’ 3 -

fint i 2 AR 6 400 mg/m’ & -

— A REMNY 40 400 mg/m’ I -

BV —HEAR 12 400 mg,/m’ & -

*ﬁéﬂ%ﬁu FED 30 400 mg/m’ I3 -

%TJC*F AL 10 400 mg/m’ i -

r;éxﬂmn REMNY 3 400 mg/m’ 5 -

S AR 8 400 mg/m’ & -

15007 [2016-10-21] ik 5.7 50 | me/w’ e -

150%)\3 2016-10-11 ki 8.2 20 mg/m’ i -

150%&3 2016-10-21  ikidy 4.8 50 mg/m’ I -

3200 ok ) 7.7 25 mg/m’ i -

32004 ki 4 7.5 25 mg/m’ & -

320‘0/,7 9016-10-1 éﬁjﬁ% 8.6 25 mg/m> = -

P L4k 320117K AL 52 180 mg/m’ & -

L AR %%Mﬂ Wk 18.8 40 mg/m’* & -

ST ] Ay | 158 300 | mg/m’ | & -

(75%) 360%% ok ) 6.7 30 mg/m’ i -

360%84E [2016-10-9 | Wikidy 11.5 25 mg/m 3 -

360%%% WOk ) 13.7 30 mg/m’ i —

5584 [2016-10-21 ‘Fikidy 11.3 20 mg/m’ S -

ek AL 13 150 mg/m> J& -

HnHiker lon1a_1n_04 HEMY 31 300 mg/m’* s _




XE | b4k [ Mwsas | B j -
IEA T H%{m% E ﬁzmgzﬁ wigafa HEBCaAL | B Tkkr | he s
. 3 =,
o kL) U -
SHT [2016-10-13 ﬂﬁ@é%@ . x e - -
—10-13 % = 0.22 0.7 mg/m’ = -
ri.; 2016-12-8 |ET L& 0. 177 0.7 mg/m’ E -
@Z%f 2016-10-13  #iliE% 1. 47 10 mg,/m? 2
Wk [2016-12-8 | iR E -
%wmm %%\E 2016-10-13 ﬁﬁ%i% o.ligz 0107 mg?mz % -
Hh % ?ZI%E%\ ‘ 7 [2016-12-8 | T KAk &M 0.131 0:7 Il;li/glla E .
/mﬁﬂﬁﬁm f%ji)i:I 2016-10-13 8T b 54| 0. 185 0.7 mg,/m? 2 -
5 T |2016-12-8 | £y AL &
P FTTTTS %i&ﬂci% 0.175 0.7 mg/m’ 2 -
i 10-13 8y k&9 0. 063 0.7 mg/m? 2 -
_ 7 |2016-12-8 |45 AL &9 0.45 0.7 mg/m’ 2 -
i’«%jﬁﬁi ;016—10—13 ﬁ&wﬁ% 0.051 0.7 mg/m? 2 -
i 016-12-8 %@mm% 0. 274 0.7 mg/m’ 2 -
. LR AEY 65 300 mg/m? B2 -
e | Wikid e T &
TP s 1777 T T P70
N 2?:@% %&i[‘%gg 63 300 mg/m’ I -
J:F ,;}Lﬁém 44 150 ng/Hl3 IEé -
— i A 9.4 20 mg/m’ = -
X Jj%gﬂlz Ezﬁ'ﬂ% 9016-11-3 SFUALAL 12.8 30 mg/m’ I3 -
FAEL R FALAL 11.3 50 mg/m? & -
;%%Efﬁ 61 100 mg/m’ 2 -
L Bk Iﬁi\ﬂé% 151 300 mg/m> = -
I | REATIR | stpen [2016-12-9 [AKAMLETHIL 0. 0188 | 0.05 | mg/m | I -
e B ke ] 0.00085 | 0.1 mg/m? s -
%ﬁﬂﬁﬁé%%ﬂ 17.7 30 mg/m’ ps -
— < B Y] 0.048 1 mg/m’ 2 -
FRX | FHLHFE ujzﬂs;;t 2016-11-23  S4LA 5. 62 20 mg/m’ ?E -
%ié @Jc% 5. 886 20 mg/m? & -
)j.stJEfn wﬁ%& imim 5.715 100 mg/m’ 2 -
PRI LTI e 20161115 Al | 5.288 | 100 | mg/w | J¢ =
N e A 6.313 100 mg/m B -
TR 25 A 5. 288 100 g/ ¥ m
7 # . mg,/m -
_ R 25 FHA 6. 142 100 mg,/m? o -
T b | 159.7 | 200 | me/w | e
LK || e |2016-11-28 Eatkm | 181 20 m .
ST ) T -
‘ _)Li 27 30 mg/m> oy -
EIES HEY 92. 7 3
B I N 7 B B TIE ETTn s e -
I T T T = -
FTRIEE T TR T I T e e
P X S | 1Rk 7 [2016-11-30 ;ﬁp@@ﬁ 1.7 igo mg/m3 % .
SR TR : i -
i Iz);;{% 5. 64 50 mg,/m> = _
3 X 4 | B kA [2016-11-30) %%&Mﬁ S 100 e - -
b gt —%A il 156. 3 400 mg/m’ I -
Wik 6. 16 50 mg/m’ L -
NS FEMY | 162.7 400 g/ ¥ m
‘x\ ‘x\ oy N ’ g - mg m _
X X | Bk A [2016-11-300 44k | 45.7 400 mg/m’ i‘% -




XE | Vg [ Waas | wwing | wmE | HeorE | R | Heat | Rk | BEaR
)@ il Tk 4 18.5 50 mg,/m? 2 -
I ES FE | 115.3 400 mg/m’ pas -
3 X | e | G kA |2016-11-300 44k Aif 26. 3 400 mg/m’ 5 -
A LN Wk 11.1 50 mg/m’ pas -
ST P FEA 57 400 mg/m’ B -
FIE X | F i | Bk A [2016-11-300 44k 28.7 400 mg/m’® 5 -
=il ik ) 22.9 50 mg/m> B2 -
Rz [2016-10-21 ki 4y 16. 4 30 mg/m’ B -
L 2016-10-2 Wk 4 7.5 25 mg/m’ it -
ke kL) 6.8 25 mg/m> = -
Bkl [2016-10-211 ik 9.6 25 mg/m’* S -
SN 9016-10-2 ki 11.2 20 mg/m’ 2 -
SN Wk 13.2 20 mg/m’ Pt -
ezl AL 26 180 mg/m’ = -
HLEL e [2016-10-200 Wik 17. 1 40 mg/m 2 -
B dy2 RANY 153 300 mg/m’ B2 -
Ledhibl A 73 180 mg/m? B2 -
LSk H ki 16. 6 40 mg/m’ = -
oo | BRADERS REMNY 267 300 mg/m’ 5 -
oAl 77 T e N 770 I AT 7 I
4 fr) IR AT LIS Wk 16 40 mg/m’ = -
/A\% B ps4 w54 | 210 300 | mg/m’ = —
Ledhibl A 86 180 mg/m’ P -
Bk |2016-10-20  @ikiwy 18.3 40 mg/m’® & -
[, REMNY 210 300 mg/m’ 5 -
BegEpl [2016-10-21 Bk 8.4 20 mg/m’ = -
S Pl 4¥LE,IJC@[L 3 35 mg/m I
IS S 2 3 H _
9016-12-1 IJT: 5 10 mg/m3 2
g%% , '}:/j: 8 10 mg/m TE -
N —HE AR 8 35 mg/m’ = -
S 14 — Ui ! =
2# M4 AN 21 50 mg/m I -
Ak 2 B <1 1 % P -
C. D AR 17 50 mg/m’ i —
HAERR 12016-10-20 Z ALY 0 500 mg/m> oy -
=gz 2 Tk 11 30 mg/m’ I -
FEAAE PR | Al [2016-10-20 Z DY) 192 500 | mg/m’ 2 —
NS ok ) 8.5 30 mg/m’ 72 —
b2t 9016-10-2 AR 97 100 mg/m’ & -
TR 4R Wk 8.4 50 mg/m’ 2 —
CRTHEHE [2016-10-24 ki 4y 11. 1 120 mg/m’ B -
HLUKAR 9016-10-24 JEH L] 0.68 - mg/m’ - -
JE LR R Wk 12 120 mg/m’ pas -
AR KA JEHLE Rl 0.67 - mg/m’ - -
BHE e rms | ezt 20102 Sk | 13 | 120 | wmew | B2 g
Gl HAHL 12016-10-24  Bikivy 11.8 120 mg/m’* 3 -
SR [2016-10-24 ik 10.9 30 mg/m’ & -




XE | Vg [Waas | wwing | wsmE | HeokE | R | Heat | Rk | BEER
Vel [2016-10-24  Hikivy 12.1 120 mg/m’ 5 -
2R 12016-10-261 Bk 13.4 30 mg/m’ 3 -
THEAE AR 9 100 mg/m’ 5 —
b [ ki 17. 4 50 mg/m’ s -

PR 2 B <1 1 % s -

oy Wk ) 11.9 80 mg/m> I -

2016-10-26 —4H4kHi 12 400 mg/m> B -

RANY 46 380 mg/m> = -

Eﬁﬂ?]‘/ﬁ i/f\/pﬁﬁ)ﬁ 4 50 mg/m3 xEé -

g ALY 126 200 mg/m> = -

oY) 12.6 30 mg/m? S —

AR 13 50 mg/m’ s -

£ EMNY 195 500 mg/m’ P -

MR 15.2 30 mg/m’ 2 -

Vi 44 IE :ﬁpﬁﬁ)ﬁ 19 50 ng/Hl3 IEé —
gﬁ; Eiig flpion ey | 225 500 | me/w? I -
X | WA 2016-10-27—DdL 1 15,6 | 50 | me/w’ | J¢ -
A 17 50 mg/m? 2 -

e R ZEND) 272 500 mg/m’ I -

ki 15 30 mg/m> = -

AR 8 50 mg/m’ s -

fEppag R 217 500 mg/m’® 3 -

Wk 15. 4 30 mg/m? i —

T b g2l 1. 319 30 mg/m’ = -

N Wk 14. 4 80 mg/m’® B -

iz £ ki) 12.8 30 mg/m’® 3 -

AR HL 2016-10-26 AR 7 50 mg/m’ = -

[ Wk 19. 6 50 mg/m’ B -

S ;%&’f)ﬁ@ﬁ 8 100 mg/m’ = -

i 2591 (W) W [<0.00000] 0.3 |y g/m? 3 -

Wk 10.9 50 mg/m? i —

1H2H —HEAR 7.13 50 mg/m> i -

fdh Wk 19.4 50 mg/m’ pis -

1H2# Wk 20. 7 30 mg/m’ 2 -

AR 15. 3 50 mg/m’ B -

1 # A FE 408 500 mg/m’* & -

Tk 13.7 30 mg/m’ I -

1 # i fe ok ) 19.5 30 mg/m> i -

AR 17.6 50 mg/m’ B -

ﬁig Z}é 24 fE REANY 392 500 mg/m’ & -

o | TERE IR o ki) 21.8 30 mg/m’ = -
= IEAPRA | 24 fiifk 201671275 R 19.7 30 mg/m’ & -
L 44 AR | 23.8 50 mg,/m? B —

F AENY 441 500 mg/m> oy -

i BB 23. 2 30 mg/m’ P -

SHAH A 2. 86 50 mg/m’ s -

fd i Wk 19.2 50 mg/m’ Py -

3HAH BB 20. 8 30 mg/m’ S -

M) — JHZE 9.73 10 mg/m’ B -




XE | gk [ Mias | WRiag | wEmH | HEorE | ARERE | Hisoat | Rk | BERENR
1 — —HARR 7.07 100 mg/m’ 2 -
e AENY 24.7 200 mg/m? e -
JHZE 16 80 mg/m’ 5 —
AL 0 300 mg/m> = -
L@ B heh FEA 195 500 mg/m* 5 -
IE 22T | | R HE [2016-11-8 | B k&) 0 1 mg/m’ 2 -
HIRAR| A B EE) 0 0.1 mg/m’ 2 -
ALY 0 - mg/m’ - -
A 3. 28 70 mg/m’ = -
L& W RE[2016-11-17  Bikidy 13 30 mg/m’ B -
‘ oA kR | 21.9 100 | mg/w’ £ -
14 T8 [2016-12-1 W X, o p— o —
AR 12.4 50 mg/m’ 2 -
LA [2016-12-260 R4 129 500 mg/m’ B2 -
Bk ) 17 30 mg/m’ = -
1 # B 4% 9016-19-11 2 0. 525 30 mg/m® B2 -
T WUk 11.6 80 mg/m’ = -
1 # SRl 2016-11-171 BB 12.8 30 mg/m’ It -
1 # i fs Wk 12.6 30 mg/m’ I -
s AR 2. 86 50 mg/m’ & -
1 #HEEE [2016-12-1 Wh) o5 = p— o -
. CAUEER | 15.3 100 | mg/m’ I -
LStk 0016111 LRy 13. 1 50 | mg/w’ B _
241 B4 Bk 13 30 mg/m’ & —
2 H# Fy i Wk 4 11.5 30 mg/m’ B2 -
‘ oA FAEER | 29.6 100 | mg/m’ P -
2+# T8 [2016-12-1 W 1o o p— o —
AR 31.5 50 mg/m’ 2 —
2HAEY[2016-11-17 FEND 282 500 mg/m’ 5 -
Tk 23.3 30 mg/m’ 2 -
e, 2#@%‘;@ 9016-19-15 EE 0.514 30 mg/mz ;':? -
e :F%”t%# %JJ"%#@ 11.3 80 mg/m T -
T AT A 2HNEI 01611 1 A—BHL 13.3 30 mg/m’ pis -
%1 21 i fk %ﬁﬁﬁ% 13 30 mg;mz % -
o A 9. 55 50 mg,/m I -
2# i |2016-12-1 W) 0.3 = p—p o —
- ARk | 47.7 100 | mg/m’ P -
2R wikid | 116 50 | meg/m | & -
2016-11-17 —%&A4LHR 43.9 50 mg/m’> 7 —
3 fE FE 241 500 mg/m’* & -
R 25 30 mg/m’ = -
3HREL 92016-12-15 £ 0. 496 30 mg/m’ - -
Th R 11.9 80 mg/m’ = -
> AR 12.9 50 mg/m’* & -
3H#HEAE|2016-12-1 W 0 = p— o -
- AR | 29.6 100 mg/m’ & -
39 2R BB 11.4 50 mg/m’ I -
AR 13.4 50 mg/m? 2 —
4# AN 240 500 mg/m’ B -




gk [ Wsgiasr | WWiEs | WEwmE | HeorE [ ARERE | Hsoasr | Rk | SRR
ki) 25. 7 30 mg/m’ 2 -
2016-11-17 —44bi 27.7 50 mg/m’ 2 -
5 fE FEA 433 500 mg/m’® B -
ok 26. 1 30 mg/m’ I -
AR 13.3 50 mg/m’ = -
6 # fEp FEAL) 486 500 mg/m’® 5 -
ki) 25.7 30 mg/m? o —
1 # kL) 13.7 25 mg/m> s -
14 Wk 12.6 25 mg/m> 2 -
1#E 2 BB 13.8 25 mg/m’ B2 -
LRI Wk 14.2 25 mg/m’ 2 -
IHEH BB 14.2 30 mg/m’ 2 -
IHER Bk 13.1 20 mg/m’ 2 -
2t kL) 13.7 25 mg/m> = -
28 Bk 12.9 25 mg/m 2 -
2t kL) 14. 4 25 mg/m> = -
28 Wk 14.5 25 mg/m 2 -
245 1 ki 4 14. 2 25 mg/m’ 2 -
2HER Wk 4 13.6 30 mg/m’ 2 -
2HE T ki) 13.3 20 mg/m’® 3 -
St Wk 4 12.8 25 mg/m’ 2 -
RETET N ki) 14. 4 25 mg/m’® & -
St Wk 4 13.5 25 mg/m’ 2 -
3t b Bk 14 25 mg/m’ - -
gE N Wk 14 25 mg/m’ = -
SR ki) 13.5 25 mg/m’® 3 -
SHETH Wk 14 30 mg/m’ P -
N | SHER Wk 4 13.3 20 mg/m> & -
7| A2 4L |2016-10-12 Bk 14 20 mg/m’ 5 -
WA | A EL MR 13.9 20 mg/m’ B -
AN k4 12.8 20 mg/m’ 5 -
RN Wik 4 13.6 20 mg/m’ i -
AN Bk 12.6 20 mg/m’ I -
RN Wik 4 13.5 20 mg/m’ i -
AN Bk 13.1 20 mg/m’ I -
RN Wik 4 13.4 20 mg/m’ i -
PRI T R 14.2 30 mg/m’ = -
PR PR Wk 13.9 30 mg/m> oy -
1378 Bk 13.3 25 mg/m’ j -
A% Wik 4 13.9 25 mg/m’ & -
BERE%E Bk 13.9 20 mg/m’ I -
— B HL Wk 13.2 20 mg/m> oy -
— WA Bk 14. 1 20 mg/m’ P -
— RN Wik 4 14.5 20 mg/m’ i -
— AN Bk 12. 6 20 mg/m? I -
— AN kL) 14. 4 20 mg/m’ = -
— A3 ok 12.1 20 mg/m? I -
— A3 BB 12. 4 20 mg/m’ S -
— AN Bk 14.5 20 mg/m? I -




XE [ SRR [ Bass | BRAH | BUGH | S5kE | rRE | Hest | R ik | B
JafiE ki) 13. 1 25 mg/m’ 2 -
L [ A ELL JEHREEgE]  1.25 120 | mg/m’ I -
HEHEIX [ R [ AL [2016-10-13 JEFEkERIE| 0. 54 120 mg/m? 2 —
AL JEER N FALA 3.3 - mg/m> - -
AR 25 100 mg/m’ B2 -
ey HENY 140 300 mg/m’ I -
S 1#;;*% Je Sl ] 000529 | 0.05 | mew | .
(e iﬁﬁ@ 13.2 30 | mg/w e -
WX | ) TR 2016121 f—RtLl 5. 04 60 | mg/w’ | J2 -
BBy A R ;i&’f’t@ﬁ 12 100 mg/m> = -
wal | onsrgs f&%&%% 143 300 mg/m’ 2 -
g K EANEY] 0.00517 | 0.05 mg/m> I -
o) 10. 6 30 mg/m? S —
FAE 3.01 60 mg/m’ B2 -
Zo 5L | ORI 118K 9016-12-2 g 0. 004 1 mg/m? B2 -
o [aen | Heo % — | 0.009 40 mg/m’ 5 -
i — i;*z?j@ 0.135 12 mg,/m’ I -
ST EFIZIK+P 0.239 40 mg/m> = -
oS R S 0. 594 70 mg,/m’ 12 —
R 1.56 120 mg/m’ & -
i — j&%ﬁ% 0.0738 12 mg,/m’ B -
M Eﬁzi 0. 64 40 mg/m’® 2 -
T —Hx 2.6 70 mg/m’ T -
R 1,44 120 mg/m’ & -
i j&%ﬁ% 0.112 12 mg,/m’ B -
T Eﬁzi 0.192 40 mg/m’® 2 -
T R 1. 05 70 mg/m’ 7 —
Rl 1,18 120 mg/m’ & -
et | i = j&%ﬁ% 0. 0894 12 mg,/m’ 2 —
Jerlibe | Med i | fmee [2016-12- 14—t 1 0235 L 40 L me/w | v -
e o T 1.13 70 mg/m’ I -
PEHREESE] 2,13 120 mg/m> = -
i = ﬁf%j% 0.107 12 mg/m’ H —
I EFIZI-i‘ 0.213 40 mg/m’ = -
A ZHZE 1. 16 70 mg/m* = —
JEHREEE] 1,75 120 mg/m’ 2 -
it = ﬁ%ﬁ% 0.102 12 mg/m? H -
I EFIZI-i‘ 0. 257 40 mg/m’ = -
£ S 1.63 70 mg/m* I -
PERRESE] 2,11 120 mg/m> = -
i = ﬁf%j% 0. 0633 12 mg/m’ H -
SRR fﬁ ZIiP 0. 327 40 mg/m’ = -
TR e 2.2 70 mg/m* I -
JEHRERE] 1,27 120 mg/m’ 2 -
— 4] RG] 0.112 0.5 mg/m’ B -
4[] H e 0,155 0.5 mg/m? o2 —
PR | — 25 1) BRG] 0.041 0.5 mg/m’ B -
{%E&HEE“ EE%?E/E—J\ Eil:ﬁ] 2016-10-2 G&'f’té% 0.04 0.5 mg/m3 zEé -
B~ [ ZE BRG] 0. 022 0.5 mg/m’ B -




XA | AR |l | AN | S HorE | AR | Hcisr | Emks | RS
| QEI\E—U H e 0.014 0.5 mg/m? 2 —
*ZE@ Y RS <0.013 0.5 mg/m’ = -
— (] b G| 0.087 0.5 mg/m’ pa3 -
JE A 71 80 mg/m> = -
i, B AL 0.0057 1 mg/m’ S -
. B, gk 0.0378 4 mg/m? 2 -
— :ﬁﬁgﬁjﬁ <2. 86 300 mg/m> 2 -
e XA AENY 189 500 mg/m’ 2 -
DRAKE | RIS | HEBedr |2016-12-30 5k S Ak 54| 0. 0063 0.1 mg/m’ = -
IR A H G| 0. 151 1 mg/m’ & -
NS 0.0045 0.1 mg/m’ Jo -
PRAS 2 R <1 1 % = -
BALAL 0.89 7 mg,/m? = -
A 9.3 70 mg/m> I -
l#féﬁ%‘ Ak S| 0.109 0.5 mg/m 2 -
éiﬁgg %ﬁ&{ﬁﬁ% 0.02 0.5 mg/m’> 2= -
0. 022 3 3 B -
KR | 38 & %E%chig 0. 065 82 I;llijgll g -
kL H ﬁﬁ/z}ﬁ 3#%&@ 9016-19-13 LAkl 0.078 0.5 mg/m’ 2 -
Tl | 4858 & 0.06 0.5 mg/m? i -
Al éﬁa$ S 0.02 0.5 mg/m’ s -
R NS 0.055 0.5 mg/m’* = -
éﬁai nak & 0,022 0.5 mg/m’ s -
T BT %%5}2{1%{%% 0. 05 0.5 mg/m’* = -
ﬁ:/“ J\ ‘/\ 2 65 3 =) —
rir s WA G | A/ :;ch@’ﬁ 3 200 Eiﬁa I%E -
S e i B Ty 500 [oe/m | i -
PR 28 ] RG] <0.013 1 mg/m’ & -
T AEFA R pLisEN 2 65 mg/m’ & -
s AR | s i —HEAR 17 200 /m? £ -
223 HL ’ M 2016-11-28—=Lo g/ m 2=
ﬂ&kiﬁﬁﬁﬁ& 67 ;ﬁf&ﬁ%@ 11 500 mg/m’ 2 -
N 4 0. 092 1 3 B -
L [EMTIEY ] e 69. 7 80 Eﬁs E -
M T %fgﬁg ﬁ,” 2016-12-7 4%@2 50 300 mg/m’ i -
M= A 107 500 mg/m’ I -
ﬁ;ﬁi; 2016-10-31  Fikiyy 12.6 30 mg/m> & -
AR 41 50 mg/m’ I -
PR (2016-10-24 FAEMY) 163 500 mg/m> = -
){?!f% ki) 20. 2 30 mg/m’ I -
—AAALER 103 200 mg,/m? = -
| 1#360]2016-10-19 ’E%ﬂ{% 84 300 mg/m’ B -
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